Consider the following function defined by its graph:
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Find the following limits:
o) lm f(z) b lm f@z) o lm f(z) d) lim (2

) lim f()



Answers

a) liml_ f(x)
b) hm1+ f(x) =

c) lim f(z)= lim f(z). Therefore linj_lf(g:):

r——1- r——1+

d) lim f(z lim f(z) . Therefore ]im4f($):DNE

r——4 r——4+

) #
e) 111141_ f(.?:) # ]11}11+f( x) . Therefore li:m_71 f(x) = DNE



Consider the following function defined by its graph:

Y

VAN A\ N

Find the following limits:
@) lim () b) lim ) o) limf(@) d) lim f@z) ) lim f(a)

r—1-—



Answers

a) lim f(z)=3

b) lim f(z)=3

c) ml_l}nf__ flz)= £]_1}1111+ f(x) . Therefore il—}n} f(x)=3

d) m_1}19}5}_ flx) # T_]}I_"_['E_F f(x) . Therefore m£H35 f(x) = DNE

e) ml_l}lgl_ f(z) # £]_1}1'15.1+ f(z) . Therefore :EI—IHE. f(x) = DNE



Consider the following function defined by its graph:

y

Find the following limits:
a) lim f(z) b) HEIQ+ f(x) c) lim f(z) d) 11m4f($) e) lim f(x)

r——2- Tr——2 r— — r—3



Answers

a) lim f(z)=-2

V) lim, @) =2

¢) lim f(z)= lim f(z). Therefore lim f(z)=
d) lim f(z)# lim f(x). Therefore ]1111 f(z ):
e) ml_l}l'[gl_ flz)= ££m+ f(x) . Therefore xh—lg. f(m) —



Consider the following function defined by its graph:
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Find the following limits:
li b) li li d) li
a) lim f(z)  b) lim f(z)  c)limf(z)  d) lim f(z)

¢) lim ()



Answers

a) lim f(z) =2

b) lim f(x) =2

c) Il_l}l'él_ flz) = ££%1+ f(x) . Therefore il_}l'ﬂz f(x)=2

d) x_l}lg_ flz) = m_]}l_"_['}i_l_ f(z) . Therefore m£n34 f(x)=0

e) lim f(z)= ]im+f(:£) . Therefore limé flx)=—1
r—5 r—

r—5—



Consider the following function defined by its graph:
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Find the following limits:
a) lim f(z) b) 1im+f($) c) ]im2f($) d) lim f(z) e) lim f(x)
r—s —2— r——2 T—r—

r——>5 r—5



a) lim_f(z)=
V) Jm, ()=
¢) lim flz)=
d) lim f(z)#
e) lim f(z)=

Answers

lim  f(z) .

r——2+

lim f(x) .

r——5+

Therefore 11111 f (z) =

Therefore ]1111 f(m) = DNE
I]_1}%?1,]"( x) . Therefore 3131_}1115 f( ) =1

—1



Consider the following function defined by its graph:

Find the following limits:
a) lim f(z) b) 1im+f($) e) lim2 f(x) d) lim f(z) e) lim f(x)
r——2— r——2 r—r—

r——5 r—5



Answers

a) lm f(z)=3
b) lim f(z)=4
c) m_]}g]g_ f(x)# T_133+ f(x) . Therefore Tl_]}n_lzf@) = DNE
d) m_1}13:}_ f(zx) # m—131315.+ () . Therefore m]—i}ﬂ—laf(m) = DNE

e) lim f(x)= ]im+f(:£) . Therefore lim_5 flx) =2
r—5" r—5 r—



Consider the following function defined by its graph:
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Find the following limits:
@ lm f@) B lm f@@) ¢ lm f@) d)lm f@) e lim (@)

r——4 r—5



Answers

a) lim f(z)=0

r——2-

b) lim f(z)=0

¢) lim f(z)= Ilim . f(x) . Therefore limzf(ﬂ:) =0
T——2— r——2 Tr——

d) lim f(z)# lim+ () . Therefore lim4 f(z) = DNE
r——4-— r——4 r——

e) lim f(z)= ]im+f(:c) . Therefore lin15 flx) =3
r—5H— r—5 r—



Consider the following function defined by its graph:
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Find the following limits:
a) lim f(x) b) lim+f($) €) ]i.m2 f(x) d) lim3 f(z) e) lim f(x)
r——2- r— —2 r—r— r— —

r—5



Answers

a) lim f(z)=0
b) lim f(z)=1
c) T_]}g_ flx) # T_l}ng f(x) . Therefore Il_i}n_lzf(:c) = DNE
d) m_1}12}_ flx) # T_]}l;ny f(x) . Therefore ﬂ:]_:'L}n_ngf(m) = DNE

e) 1111:;'1_ flz) = ]i%]_l_f(ﬂ:) . Therefore lin% flz)=—-1



Consider the following function defined by its graph:

Find the following limits:
a) 111121_ f(x) b) 1i1121+ f(x) c¢) lim f(z) d) 1i1114f($) e) HH}:‘ f(x)

r—2 r——



Answers

a) lim f(z)=

r—2—

b) lim f(x) =

r—2+

c) 11111 flx) = ]1111 f(x) . Therefore hm flx) =
d) hm [z );ﬁ ]11’11 f() Therefore £H34f() DNE

r——4 r——4

e) lim f(z)= ]1m+f( x) . Therefore li:rni_1 flx)=—1
r—4- r—4 r—



Consider the following function defined by its graph:

LN

Find the following limits:
a) lim f(z) b) lim f(x) c) lim f(x) d) lim f(z) e) lim f(x)
r—s—2— r—s—2+ r— —2 r——3

r—3



Answers

a) limé: flz)=3

b) lim f(z)=3

c) ]img_ f(x) = lim‘lng f(x) . Therefore linj_zf(ﬂ:) =3

d) lim f(z)# ]iI]l+ f(x) . Therefore ]imaf(m) = DNE
rT——3- r——3 Ir——

e) lim f(z)= ]im+f(3:) . Therefore limé flxz)=-3
r—3 r—

r—3-



